
ARITHMETIC PROGR ESSION 

1.ae Qn=2n++ 
a 2()+I = 3 
a= 2()+|-5 

ag = 2 (3)+1= 7 

ay =2 Cu)p1= 9 

A.P. 3, 5,7, 9. 
'd= S- 3= 2 

o=7-S=2 
Cemmen 

oferece 
is 2. 

Homce 
amswr is eptsn b) . 

2. Here, a , =3 &m = ? 
tn = a+(n-DA 
59=2+ Cn-1) d 

2+ 3m-3=59 

3m = 59+I 

3n =C0 m = D=20. 

Hence Aho answer iu optien (c). 

3. (a)I 
H. Cb) 2 

5. Cd) 3 
thtevm B 3S 

13-th t M i HI 

New Aie d is u-3 

7. Cb) 7 

3 
the a15 teum: 

6 Ca) 5 Va 



NSV1s DBA 
2V ,3Va, 4 V 

Hence a 3UR-2R= V2 
Nec tEm=yV+-VI =5 V 

8. , 7, 12, a 18, 
. 
A 2a+n- Dd 

a=, d=2 

n-20, a=l, d= 

x+ (20-1Dx2 
AP= 10 XER+| 9 x23 AP 1OX Y0 = MDo 
Hevvee,l asureti Cc)Y00 

0. Sm5 1 tst n' atusal uumberj 

Sumcf{vst 20 natwal_umbe 

=20(20+1) 20aD-B1O 

Hemce, opten Co) al0 i Cervteot 
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